
cf=a= @)&*.)&( sf  k|:tfljt cfDbfgL  

cfDbfgL tkm{    

l;=g+= >f]t k|:tfljt cfDbfgL s}lkmot 

1 ;+l3o ;/sf/sf] ljlQo ;dflgs/0f cg'bfg 122800000   

2 ;+l3o ;/sf/ jf6 x:tfGtl/t sfo{qmd ;;t{ cg'bfg 212300000 
  

3 ;+l3o  ;/sf/sf] /fhZj jf8kmFf8 86051000   

4 ;+l3o ;/sf/sf] laz]if cg'bfg  16600000   

5 k|b]z ;/sf/ ;dk'/s cg'bfg 15000000   

6 laz]if cg'bfg k|b]z ;/sf/ 6000000   

7 ;dk'/s cg'bfg ;+l3o ;/sf/ 9800000   

8 % g+=k|b]z ;/sf/sf] lalQo ;fdfgLs/0f  cg'bfg 5794000   

9 % g+=k|b]z ;/sf/af6 x:tfGtl/t sfo{qmd ;z{{t cg'bfg 8544000 
  

10 % g+=k|b]z ;/sf/sf] /fhZj jf8kmfF8 6776444   
11 cfGtl/s cfo 67828556   
12 ut cf=a= cNof cfGtl/s 128817000   

hDdf 686311000   
 

अन्तरिक श्रोत : 

l;=g+= >f]t k|:tfljt cfDbfgL s}lkmot 

1 3/ hUuf /lhi6«]zg z'Ns 2400000   
2 dfnkf]t, e'lds/ 600000   
3 Joj;fo btf{,gljs/0f b:t'/ 50000   
4 3/ axfn s/ 100000   
5 gbLhGo kbfy{ pTvgg tyf las|L lat/0f 30000000   
6 oflGqs pks/0fsf] pkof]u z'Ns 20000000   
7 k'jf{wf/ ;]jfdf nfUg] s/ 5000000   
8 cGo s/ 8078556   
9 cGo k|zf;lgs b:t'/ 300000   
10 l;Kfmfl/; b:t'/ 600000   

11 a]?h' 700000   
hDdf cfGtl/s cfo 67828556   



cf=a=@)&*.)&( sf nfuL k|:tfljt lzif{sut vr{ lalgof]hg  

l;=g+= laifout lzif{s k|:tfljt ah]6 s}lkmot 

1 cfly{s ljsf; 35300000   

2 ;fdflhs lasf; 93050000   

3 jg jftfj/0f / ljkt Joj:yfkg 19910000   

4 ;+:yfut ljsf; / ;]jf k|jfx 84722000   

5 lalQo Aoa:yfkg tyf ;'zf;g 1200000   
6 k'jf{wf/ lasf; 96385000   

& rfn' sfo{qmd vr{ 87500000   

* 
;+l3o ;/sf/ jf6 x:tfGtl/t sfo{qmd ;;t{ cg'bfg 

212300000 

 

( ;+l3o ;/sf/sf] laz]if cg'bfg  16600000  

!) k|b]z ;/sf/ ;dk'/s cg'bfg 15000000  

 laz]if cg'bfg k|b]z ;/sf/ 6000000  

!! ;dk'/s cg'bfg ;+l3o ;/sf/ 9800000  

!@ % g+=k|b]z ;/sf/af6 x:tfGtl/t sfo{qmd ;z{{t cg'bfg 8544000  

s'n hDdf vr{ 686311000   

  

   


